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%3P0 = 2BPb + tHe + Q
s @ Jeladl Al
= [M(*33Po) — M(*§3Pb) — M(3He)]c?

Q =[212,993 — 208,981 — 4,003] = 0,009 a.u.m

Q = 0,009 a.u.m X ¢ = 0,009 a.u.m x 931,5 = 8,384 MeV
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M(235Pb) (2 SPb) 213
=Ty X—5—= = 8.34 MeV X -—— = 8.499 MeV
M( 84PO)

@="Tax AC3Po) 209

Tpy = Q — T, = 8,384 — 8,34 = 0,054 MeV
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8Li + 2d — ja + 3He
LAY 1l ksl A8l Ladd
Ep(4X) = £(3X) x (4)
E,( °Li) = &(5,33) x (6) = 31,98 MeV
Ey( *He) = £(7,08) x'(4) = 28,32 MeV
Ey(?d) = e(1,11) x (2) = 2,22 MeV
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AE = Ep( Lz)+E(Zd)—ZEb(‘*He)_3198+222~—2x(2%3°) 22,44 MeV
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Lq = 0q X Npe

pre X Ny 7,8 X 6,02 x 1023 53
Npe = = = 8,39 x 10
Fe M 56 cm3
5y 1
Y, =25X 107%*cm? x 8,39 X 1022 =~ (0,2 —
cm3 cm
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" Zy X Zpp X €2 2 %X 82 % (4,8 x10719)2 172 % 1012 479 F
. = — = < ; C = ,
Tmin = K p 16,10 5(erg) 5 X 1,6.10-6(erg) m m
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do 72 x 72, x e* 1 22 x 822(4 8x10710)* 1

29 _ 2 _ 12
a0~ T, < 16,1079 sin® (6/2) (x5 x16.109)° sin*(90/2)
99 _ 566 x 1024 T = 66l
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" Zy X Zppxe?  2x82x(48x 107102
Tmin = K 6,107 5(erg) | 22 X 1,6.10¢(erg
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= 1,07 X 107*2¢m = 10,7 Fm

7 X Zpn X €2 2 X 82 X (48 x 10710)2
bogo = @ ~ 7Fb — = ( - )_6 =54x10"B3cm
2t0g(909/2)T, X 1,6.1076 _ 2tog(45°) x 12 x 1,6.10
=54Fm
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Q, = §Z X R2x B ==%x71x6,1 fm?x (+0,31) = +655 fm? = +6,6 barn
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%Ca—-33Ca+n
Z(Z-1) (N —2)? _
Ey(A,Z) = ayA — agA%® — Gc—a ~ Gsym~ 4 + 34,473/
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E,(40,20) = 15,78 x 40 — 17,8(40)s — 0,71 ———— — 23,7 ————+ 34.(40) ™+
z 40
(40)s
= 346,3 MeV |
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E,(39,20) = 15,78 x 39 — 17,8(39)% — 0,71 ———— — 23,7 ——F-——+ 34.(39) -
= 39
= 331,1 MeV
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&, = E,(40,20) — E,(39,20) = 346,3 —331,1 = 15,2 MeV
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= 1,38 x 103 —
cm

m, +my, 1,007276 + 1,008665 ﬁ
= = 1,007971a.u.m
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Pm = P X= T = 1,38 X 1038 = 22 % 1,007971 a.u.m X 1,66 X 1072% gr = 2,31 x
1014 ar
cm?3
gr
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a 2 MuVUy Vg My 4 % 1’66 X 10727 kg

v, = 0,943 x 107m/s
sl Ty 144Nd Sl dalll el
Ty/2 = 2,3 X 10'° x 365 x 24 x 3600 = 7,25 X 10%% s
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R=Ryx 10715 x A3 = 1,3 x 1071 x (144)* = 6,81 x 1075 m
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0.693 X 2R
2 =T op

_0.693x 2R _ 0.693 x 2 X 6,81 x 10~15 m
v X Ty = 0,943m/s x 107 x 7,25 x 10%
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= 1,38 x 10~*
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